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Choose the correct answer: 
1) Amino acids are joined by
	a)
	Peptide bond
	c)
	 Ionic bond

	b)
	Hydrogen bond
	d)
	Glycosidic bond

	
	
	
	


2) When small amount of acids or bases are added to zwitterion ion, it resists a change in

	a)
	Temperature
	c)
	Polarity

	b)
	Volatility
	d)
	PH

	
	
	
	


3) Side chains in amino acids can be:
	a)
	Acidic
	c)
	Neutral

	b)
	Basic
	d)
	Both of these

	
	
	
	


4) All of the following are hydroxy containing amino acids except : 
	a)
	Serine
	c)
	Valine

	b)
	Threonine
	d)
	Tyrosine

	
	
	
	


5) The primary structure of protein represents

	a)
	Linear sequence of amino acids joined by peptide bond
	c)
	Helical structure of protein

	b)
	3-dimensional structure of protein
	d)
	Sub unit structure of protein

	
	
	
	


6)  Haemoglobin is an example for protein configuration:
	a)
	Primary structure
	c)
	Tertiary structure

	b)
	Secondary structure
	d)
	Quaternery structure

	
	
	
	


7) Disulphide bonds are formed between:
	a)
	Cysteine residues that are close together
	c)
	Proline residues that are close together

	b)
	Cystine residues that are close together
	d)
	Histidine residues that are  together

	
	
	
	


8) Which statement about the zwitter ionic form of an amino acid is correct?

	a)
	The zwitterion acts only as a base
	c)
	The zwitterion ion is neutral overall.

	b)
	The zwitterion acts only as an acid.
	d)
	The zwitterion ion positive or negative.

	
	
	
	


9) All of the following are simple proteins except : 
	a)
	Histones
	c)
	Keratins

	b)
	Albumin
	d)
	Peptone

	
	
	
	


10) Each nucleotide is a molecule formed by:
	a)
	Base- sugar- phosphate
	c)
	Sugar-phosphate

	b)
	Base- sugar- OH
	d)
	Base- phosphate

	
	
	
	


11) ATP is an example for:
	a)
	Vitamin
	c)
	Nucleic acid

	b)
	Enzyme
	d)
	Nucleotide

	
	
	
	


12) Only one of the pairs below is correct for a pair of complementary bases in DNA – which is it?

	a)
	Adenine and cytosine.
	c)
	Guanine and adenine.

	b)
	Uracil and thymine.
	d)
	Guanine and cytosine.

	
	
	
	


13) RNA contains:

	a)
	Double strands of ribonucleotides. 
	c)
	Double strands of deoxyribonucleotides. 

	b)
	Single strands of deoxyribonucleotides.
	d)
	Single strands of ribonucleotides.

	
	
	
	


14) Three of the following are examples of globular proteins. One is not.Which is the odd one out?

	a)
	Ovalbumin.
	c)
	Haemoglobin.

	b)
	Pancreatic α-amylase.
	d)
	Collagen.

	
	
	
	


15) Which of the following is Sulphur highly containing protein :
	a)
	Collagen
	c)
	Ossein

	b)
	Keratin
	d)
	Reticulin

	
	
	
	


16) The peptide bond is: 
	a)
	Covalent bond
	c)
	Weak bond

	b)
	Non-covalent bond
	d)
	Responsible for 2nd structure of protein.

	
	
	
	


17) Example of essential aromatic amino acids: 

	a)
	Threonine 
	c)
	Phenyl alanine

	b)
	Alanine
	d)
	Glycine

	
	
	
	


18) All the following are monosaccharides except:

	a)
	Ribose
	c)
	Maltose

	b)
	Glucose
	d)
	Mannose

	
	
	
	


19) An example for aldose is:

	a)
	Galactose
	c)
	Fructose

	b)
	Ribulose
	d)
	Xylulose

	
	
	
	


20) Which one of the following sugars is a ketose?

	a)
	Xylose
	c)
	Arabinose

	b)
	Fructose
	d)
	Erythrose

	
	
	
	


21) Glucose is the constituent of:

	a)
	Inulin
	c)
	DNA

	b)
	Collagen
	d)
	Starch

	
	
	
	


22) Number of asymmetric carbon atoms present in the straight chain structure of D-glucose is:

	a)
	6
	c)
	3

	b)
	4
	d)
	2

	
	
	
	


23) Glucose on oxidation with H2O2 gives:

	a)
	Hyaluronic acid
	c)
	Glucaric acid

	b)
	Glucuronic acid
	d)
	Mucic acid

	
	
	
	


24) Sorbitol is:

	a)
	A sterol
	c)
	A sugar alcohol

	b)
	An amino alcohol
	d)
	A glycerol derivative

	
	
	
	


25) Inverted sugar is:

	a)
	Fructose
	c)
	Sucrose

	b)
	Glucose
	d)
	A mixture of glucose and fructose

	
	
	
	


26) All the following are disaccharides except:
	a)
	Sucrose
	c)
	Raffinose

	b)
	Maltose
	d)
	Lactose

	
	
	
	


27) Glycogen contains:

	a)
	α-1,4 and α1,6 glycosidic linkages
	c)
	α1,4 and β 1,6 glycosidic linkages

	b)
	α1,6 glycosidic linkages
	d)
	β 1,4 and β 1,6 glycosidic linkages

	
	
	
	


28) All the following are mucopolysaccharides except:
	a)
	Chondroitin sulphates
	c)
	Amylodextrin

	b)
	Hyaluronic acid
	d)
	Heparin

	
	
	
	


29) Which is the repeating unit of hyaluronic acid?

	a)
	N-Acetylglucosamine and D-glucuronic acid
	c)
	N-Acetylgalactosamine and D-glucosamine

	b)
	N-Acetylgalactosamine and D-glucuronic acid
	d)
	N-Acetylglucosamine and D-glucosamine

	
	
	
	


30) The number of isomers of glucose is

	a)
	2
	c)
	8

	b)
	4
	d)
	16

	
	
	
	


31) Two sugars which differ only in configuration around a single carbon atom are termed:
	a)
	Epimers
	c)
	Optical isomers

	b)
	Anomers
	d)
	Stereoisomers

	
	
	
	


32) α-D-glucose and β -D-glucose are:
	a)
	Stereoisomers
	c)
	Anomers

	b)
	Epimers
	d)
	Keto-aldo pairs

	
	
	
	


33) The constituent unit of inulin is:
	a)
	Glucose
	c)
	Mannose

	b)
	Fructose
	d)
	Galactose

	
	
	
	


34) Name the most important lipid components of the cell membrane:

	a)
	Triacylglycerols
	c)
	Phospholipids

	b)
	Steroids
	d)
	Glycolipids

	
	
	
	


35) Fats consist of:

	a)
	Glycerol and fatty acids.
	c)
	Glycerol and ketoacids

	b)
	Cholesterol and fatty acids
	d)
	Cholesterol and amino acids

	
	
	
	


36)  Point out the saturated fatty acid:

	a)
	Palmitic
	c)
	Linoleic

	b)
	Linolenic
	d)
	Arachidonic

	
	
	
	


37) Point out the monounsaturated fatty acid:

	a)
	Stearic acid
	c)
	Linoleic

	b)
	Linolenic
	d)
	Arachidonic

	
	
	
	


38) Lipids are natural organic compounds, which are:
	a)
	Good soluble in water                          
	c)
	Insoluble in benzene

	b)
	Insoluble in organic solvents                  
	d)
	Soluble in organic solvents

	
	
	
	


	39) Oxidative rancidity of unsaturated fatty acid is due to:

a)

Skip of electron
c) 
Addation of electron
b) 
Skip of hydrogen ion
d) 
Addation of hydrogen ion
40) All the following are polyunsaturated fatty acids(PUF A) except:
a)

Linolenic acid

c)

Arachidonic acid

b)

Palmitic acid

d)

Linoleic acid

41) Which of the following is not an essential fatty acid (EFA)?

a)

Linoleic acid

c)

Oleic acid

b)

Linolenic acid

d)

Arachidonic acid

42) Which compounds facilitate emulsification of fats?

a)

Bile salts

c)

Bile acids

b)

Bile pigments

d)

Sterols

43) Hydrolysis of fat by alkali is known as:

a)

Esterification

c)

Emulsification

b)

Saponification

d)

Peroxidation

44) Iodine number indicates:

a)

Total number of fatty acids in fat

c)

Measure of the degree of unsaturation in fat

b)

Level of rancidity of fat

d)

Number of volatile fatty acids in fat

45) Acrolein test is performed to detect:

a)

Chloesterol

c)

Triglycerides

b)

Amino acids

d)

Glycerol

46) Lecithins contain:

a)

Glycerol, fatty acid, phophoric acid, choline

c)

Glycerol, fatty acid, phosphoric acid, ethanolamine

b)

Glycerol, fatty acid, phosphoric acid, serine

d)

Sphingosine, fatty acid, galactose

47) Which is a major constituent of lung surfactant?

a)

Cholesterol

c)

Phosphatidic acid

b)

Dipalmitoyl lecithin 

d)

Glycerol

48) All the following are examples of cerebrosides except:
a)

Kerasin

c)

Nervon

b)

Cerebron

d)

Dextran

49) Sphingosine, an amino alcohol is a constituent of all the following except:
a)

Ganglioside

c)

Cephalin

b)

Cerebroside

d)

Sphingomyelin

50) Which is not a constituent of gangliosides?

a)

Sialic acid

c)

Sphingosine

b)

Glycerol

d)

Long chain fatty acid

51) Which fraction of lipoproteins has the lowest density?

a)

Chylomicrons

c)

P-lipoproteins

b)

a-lipoproteins

d)

Pre P-lipoproteins

52) Which fraction of lipoproteins has highest cholesterol content?

a)

HDL

c)

LDL

b)

Chylornicrons

d)

VLDL

53) All of those are in cholesterol molecule except:

a)

28 carbon
c)

27 carbon
b)

Duble bonds at B ring
d)

Hydroxyl group at carbon 3
54) All- the following compounds are formed from cholesterol except:

a)

Bile pigments

c)

Bile acids

b)

Vitamin D

d)

Steroid hormones

55) All the following are eicosanoids except:

a)

Prostaglandins

c)

Thromboxanes

b)

Glutathione

d)

Leukotrienes

56) Prostaglandins are synthesised from:

a)

Palmitic acid

c)

Stearic acid

b)

Linoleic acid

d)

Arachidonic acid

57) The lipid accumulating in Gaucher's disease is:

a)

Glucosylceramide

c)

Cholesterol

b)

Lecithins

d)

Galactosylceramide

58) Which is not a constituent of gangliosides?

a)

Sialic acid

c)

Sphingosine

b)

Glycerol

d)

Long chain fatty acid




59) Name of the property of enzymes which is not presented at the inorganic catalysts:

	a)
	Ability to the denaturation
	c)
	Inert to chemical substrates

	b)
	Wide specificity
	d)
	Big half-life

	
	
	
	


60) Non-protein part an enzyme, which easily dissociates from polypeptide chain: 

	a)
	Apoenzyme
	c)
	Prosthetic group

	b)
	Coenzyme
	d)
	Cofactor

	
	
	
	


61) Coenzyme FMN is the derivative from vitamin:

	a)
	B1
	c)
	B3

	b)
	B2
	d)
	B6

	
	
	
	


62) Succinate dehydrogenase catalyses the dehydrogenation of succinate. Malonic acid  is interrupt
      the action of this enzyme. Choose the inhibition type:

	a)
	Limited proteolysis
	c)
	Non-competitive

	b)
	Competitive
	d)
	Allosteric

	
	
	
	

	
	
	
	


63) Choose the vitamin that contains the pyridine ring in its structure: 

	a)
	Thiamine
	c)
	Pyridoxine

	b)
	Riboflavin
	d)
	Ubiquinone

	
	
	
	


64) Point out the vitamin, whose deficiency leads to pellagra: 

	a)
	Vitamin D
	c)
	Vitamin C

	b)
	Vitamin A
	d)
	Vitamin B3


65) The avitaminosis of ascorbic acid is named as:
	a)
	Cushing`s syndrome
	c)
	Kwashiorkor

	b)
	Addison`s disease 
	d)
	Scurvy

	
	
	
	


66) A woman who has been keeping to a clean-rice diet for a long time was diagnosed with polyneuritis (beri-beri). What vitamin deficit results in development of (beri-beri) disease? 

	a)
	Folic acid
	c)
	Ascorbic acid

	b)
	Thiamine
	d)
	Riboflavin

	
	
	
	


67) The water-soluble vitamins are, in most cases: 

	a)
	Coenzymes or precursors of coenzymes
	c)
	Components of blood coagulation system

	b)
	Steroids
	d)
	A storage form of metabolic fuel

	
	
	
	


68) Which of the following vitamins requires for transport one carbon moiety? 

	a)
	Folic acid 
	c)
	Vitamin C

	b)
	Vitamin B12
	d)
	Vitamin K

	
	
	
	


69) Choose the vitamin required for carboxylation reactions in human tissues: 

	a)
	Vitamin B2
	c)
	Vitamin B12

	b)
	Vitamin B6
	d)
	Vitamin K

	
	
	
	


70) Vitamin K is activate blood clotting factors due to convert glutamic acid residues to : 

	a)
	Glutamine
	c)
	ᴕ Carboxy glutamic acid

	b)
	α Ketoglutaric acid
	d)
	Glucuronic acid

	
	
	
	


71)  The molecule is conjugate with protein opsin to form Visual pigment:
	a)
	all-trans-retinal
	c)   
	11-trans-retinol

	b)
	11-cis-retinal
	d)
	11-cis-retinol

	
	
	
	


72) Choose the vitamin, is a precursor whose molecule contain steroid nucleus.
	a)
	Vitamin K
	c)
	Vitamin D3

	b)
	Vitamin B5
	d)
	Vitamin B6

	
	
	
	


73) Choose the compound, whose competitive inhibition  the action of Vitamin K is named: 

	a)
	Para aminobenzoic acid
	c)
	Dihydroquinon

	b)
	Cholecalciferol
	d)
	Dicoumarol

	
	
	
	


74) Which of the following factors that can affect enzyme activity?

	a)
	Substrate concentration
	c)
	Time and pH

	b)
	Enzyme concentration
	d)
	All of the above

	
	
	
	


75) Vitamin  prevent toxicity of protein avidin is?
	a)
	Riboflavine
	c)
	Vit.K                                         

	b)
	Vit.C                                      
	d)
	Biotin

	
	
	
	


76) Which type of inhibition is irreversible?

	a)
	Non-competitive
	c)
	Competitive

	b)
	Uncompetitive
	d)
	None of these

	
	
	
	


77) Cholesterol contains cyclopentanoperhydrophenanthrene ring
	a)
	True 
	b)
	False 

	
	
	
	


78) Glutathione are eicosanoids 

	a)
	True 
	b)
	False 


79)  Both sucrose and maltose are reducing sugars

	a)
	True 
	b)
	False 

	
	
	
	


80) Both starch and inulin are homopolysaccharides

	a)
	True 
	b)
	False 

	
	
	
	


81) Glucose is an isomer of fructose

	a)
	True 
	b)
	False 

	
	
	
	


82) Maltose is the sugar of milk 

	a)
	True 
	b)
	False 

	
	
	
	


83) The secondary structure of a protein is a β-pleated sheet type of structure 
	a)
	True 
	b)
	False 

	
	
	
	


84) Keratomalacia is a clinical sign of avitaminosis K

	a)
	True 
	b)
	False 

	
	
	
	


85) Calcium supplement alone protects from rickets 

	a)
	True 
	b)
	False 

	
	
	
	


86) Vitamin K is essential for growth of healthy bone

	a)
	True 
	b)
	False 

	
	
	
	


87) Vitamin E structure includes β-ionone ring

	a)
	True 
	b)
	False 

	
	
	
	


88) Tyrosine is one hydroxyl amino acids
	a)
	True 
	b)
	False 

	
	
	
	


89) Individual amino acids is protein in nature

	a)
	True 
	b)
	False 

	
	
	
	


90) All amino acids in the living body participates in protein synthesis

	a)
	True 
	b)
	False 

	
	
	
	


91) Myoglobin is an example of tertiary structure of protein

	a)
	True 
	b)
	False 

	
	
	
	


92) The enzyme activity is independent of substrate concentration
	a)
	True 
	b)
	False 

	
	
	
	


93) Some enzymes are glycoprotein in nature
	a)
	True 
	b)
	False 

	
	
	
	


94) Coenzyme is an organic substance that is firmly attached to its relative enzyme

	a)
	True 
	b)
	False 

	
	
	
	


95) All nucleotides in the body are used for DNA and RNA building
	a)
	True 
	b)
	False 

	
	
	
	


96) In RNA, purine base (uracil) included in its nucleotides
	a)
	True 
	b)
	False 

	
	
	
	


97)  Monomer structure of Nucleic acids is an amino acid

	a)
	True 
	b)
	False 

	
	
	
	


98) Linolenic is monounsaturated essential fatty acid
	a)
	True 
	b)
	False 

	
	
	
	


99) Arachidonic acid is the precursor of steroid synthesis

	a)
	True 
	b)
	False 

	
	
	
	


100) Phosphatidylcholine is an example of compound lipid

	a)
	True 
	b)
	False 
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